02 O Abb AG T1 10

Abb. 1 201

Seite 1 von 7

.......

=2

2v—3x <0

3x+ 2y =4

X¥=2

3y —2x < 6




02 O Abb AG T1 10 Seite 2von7

Abb.1 201 L

B IR REE
Mt oo
Hﬁgggggm ..... i A |y=2

L H H H s H

B |2y-3x<=0

EEEE C [3x+2y=4

D |y=zzx+2

Paas E | x>2

Y T F [ 3y-2x <6

......




02 O Abb AG T1 10 Seite 3von7

Abb. 1 215

G/



02 O Abb AG T1 10 Seite4von7

Abb. 1 075




02 O Abb AG T1 10 Seite5von7

Abb.1 075 L




02 O Abb AG T1 10 Seite6von?7

Abb. 1 076




02 O Abb AG T1 10 Seite 7von7

Abb. 1 076 L




